
8600 8600.5 8601 8601.5 8602
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

2

2.5

3

3.5

4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

0.5−

0

0.5

1

1.5

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

7292

7292.5

7293

7293.5

7294

7294.5

7295

7295.5

7296

ru
n

run:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 7294}



8600 8600.5 8601 8601.5 8602
cyclenum

93−

92.5−

92−

91.5−

91−us
l_

1X
usl_1X:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

5

5.5

6

6.5

7

us
l_

4a
Y

usl_4aY:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

31

31.5

32

32.5

33

us
l_

4e
X

usl_4eX:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

13.5

14

14.5

15

15.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

37−

36.5−

36−

35.5−

35−

us
l_

12
X

usl_12X:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

7292

7292.5

7293

7293.5

7294

7294.5

7295

7295.5

7296

ru
n

run:cyclenum {run == 7294}



8600 8600.5 8601 8601.5 8602
cyclenum

146−

145.5−

145−

144.5−

144−us
r_

1X

usr_1X:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

7

7.5

8

8.5

9

us
r_

4a
Y

usr_4aY:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

200.6

200.8

201

201.2

201.4

201.6

201.8

202

202.2

202.4

202.6

202.8

us
r_

4e
X

usr_4eX:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

7

7.5

8

8.5

9

us
r_

4e
Y

usr_4eY:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

37.5−

37−

36.5−

36−

35.5−

us
r_

12
X

usr_12X:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

7292

7292.5

7293

7293.5

7294

7294.5

7295

7295.5

7296

ru
n

run:cyclenum {run == 7294}



8600 8600.5 8601 8601.5 8602
cyclenum

32415

32415.5

32416

32416.5

32417

us
l_

co
il1

usl_coil1:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

6683

6683.2

6683.4

6683.6

6683.8

6684

6684.2

6684.4

6684.6

6684.8

6685

6685.2

us
l_

co
il3

usl_coil3:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

3920.5

3921

3921.5

3922

3922.5

us
l_

co
il4

usl_coil4:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

627.5−

627−

626.5−

626−

625.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

13630.5

13631

13631.5

13632

13632.5

us
l_

co
il7

usl_coil7:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

7292

7292.5

7293

7293.5

7294

7294.5

7295

7295.5

7296

ru
n

run:cyclenum {run == 7294}



8600 8600.5 8601 8601.5 8602
cyclenum

27847−

27846.5−

27846−

27845.5−

27845−

us
r_

co
il1

usr_coil1:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

5508−

5507.5−

5507−

5506.5−

5506−

us
r_

co
il3

usr_coil3:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

3611.5

3612

3612.5

3613

3613.5

us
r_

co
il4

usr_coil4:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

1006.8−

1006.6−

1006.4−

1006.2−

1006−

1005.8−

1005.6−

1005.4−

1005.2−

1005−

1004.8−

1004.6−

us
r_

co
il6

usr_coil6:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

17362.2

17362.4

17362.6

17362.8

17363

17363.2

17363.4

17363.6

17363.8

17364

17364.2

17364.4

us
r_

co
il7

usr_coil7:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

7292

7292.5

7293

7293.5

7294

7294.5

7295

7295.5

7296

ru
n

run:cyclenum {run == 7294}



8600 8600.5 8601 8601.5 8602
cyclenum

425.8−

425.6−

425.4−

425.2−

425−

424.8−

424.6−

424.4−

424.2−

424−

423.8−

423.6−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

71.5−

71−

70.5−

70−

69.5−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

28

28.5

29

29.5

30

1X
_c

oi
l7

1X_coil7:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

488.5−

488−

487.5−

487−

486.5−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

95−

94.5−

94−

93.5−

93−4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

28.5

29

29.5

30

30.5

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 7294}



8600 8600.5 8601 8601.5 8602
cyclenum

169.5

170

170.5

171

171.5

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

42.6

42.8

43

43.2

43.4

43.6

43.8

44

44.2

44.4

44.6

44.8

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

11.5−

11−

10.5−

10−

9.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

181

181.5

182

182.5

183

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

23.5−

23−

22.5−

22−

21.5−4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

10.5−

10−

9.5−

9−

8.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 7294}



8600 8600.5 8601 8601.5 8602
cyclenum

241.4−

241.2−

241−

240.8−

240.6−

240.4−

240.2−

240−

239.8−

239.6−

239.4−

239.2−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

87−

86.5−

86−

85.5−

85−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

3.5−

3−

2.5−

2−

1.5−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

8

8.5

9

9.5

10

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

434−

433.5−

433−

432.5−

432−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 7294}

8600 8600.5 8601 8601.5 8602
cyclenum

7292

7292.5

7293

7293.5

7294

7294.5

7295

7295.5

7296

ru
n

run:cyclenum {run == 7294}
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